T-2 2HYy YA (Y gF8)

1. v 2 A|AEe MA EFFZ(Vs) . 1500.0 Liter
2. df 2t A|AES] XM 2E(Ti) 2 10.0 C
3. df 2t A|AES] X TTR2E(Ti) 2 70.0 T
4, WY IOl X2 (PI) 0 2.2 kg/cntG
Pi = (<B+0.3> or C) - D = (<1.9+0.3> or 3.0) - 0.0 kg/cnG
5. WA 3o 2 2HMe= (Pf) : 3.7 kg/onG
Pf = Pi + dPmax = 2.2 + 1.5
dPmax = Pe-(A+C+E) = 5.5-(0.5542.2+1.3) = 1.5
(et 2 12{5t0 dPmax= 2 kg/erG HXl 2EF AZstCE)
6. YaT2(Ve) : 33.6 Liter
Ve = Vs x (Vf-Vi) = 1500.0 x (1.02270-1.00027)
VE,Vi @ Tf, TiolAMel &2 d{xA
7. 728 A 5 (Acceptance Factor) ©0.310
Pi + 1.0332 2.20 + 1.0332
AF=1- -~ =1 - ————————————
Pf + 1.0332 3.65 + 1.0332
8. WA S (Vt=Ve/A.F) : 108.7 Liter
9. WHHI (25 ZyWE MR 3->2.2 kg/arG)
- MODEL NO. : N 200/6
-HIAZH . 200.0 Liter - REEY - 160.0 Liter
- 2ld x =0| © (588x1,120H) mm CHESY : 36.7 kg
A ST 0 20 A = PN E=gel = © 6.0 kg/arG
- FIANER2E 70 T A X" A . HEEE M X]
N S| . SS400 -4 ory Al . DIAPHRAGM
T ey
10. S7|AtE @ st dH M B YH 7| S E
dPmax : 7|7] 2 dji&olMel =Che] L Z7Hgt(kg/erG)
Pe : 717 & djEe L E= oMM E MX R (kg/arG)
A orME MyMetedo thet {7 & (= Pe x 0.1)
B @ AlAHRH] 2o M+F 243 (kg/omG
C : AM2H"Hd Eo5= 255 &= (kg/orG)
D : HiZ StREOAM HWEHHIANKX S X 5F(kg/orG)
E : 717 & ofzoll o|xl= =2tE Zo| & (kg/orG)



